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|ug - A / SECTION - A

EIFIF'TE‘S Oy9 / Ohjective Type Questions
gy wear 1@ 100 % & yyA & @ 9 e {7y v & A | ow @@t
2 fe=t 50wyt & v s grT g7 U Wel fa%weq & OMR iz 9t fafgad
2y 50 x 1=50

Ouestion Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 guestions. You have to mark your selected option on the

OMR-Sheet. 50x1=250
1 mrofer 3 gfd % InuR W Ieured @ ) fead srafied O @i g 2

(2 g B) dF

(€} H=R (D) H

Into how many periods has Marshall divided production time on
the basis of supply ?
(A} Two (B) Three
(C)  Four (D}  Seven
0 IR e "l A e
(A)  3ifa scaHeid SR E (B)  dETe SR |
() wifa Sl wwd (D) T @ F A

Market price is found in

(A) Very short period market
(B) Long period market
(C) Very long period market
(D) None of these

3. aifd 3w ° gfd gl

(A) Ioia: S=ER (B) Ufa: SEEeR

(C) TR (D) ¥ ¥ g

In very short period, supply will be

(A) perfectly elastic (B) perfectly inelastic
(C) elastic (D) none of these
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4.  @gae &i feufa d
() Frma B et T wAQ ST TSR AR & SO AT 8
(B) &R gfd e afn & e A 8 |
) A E o 3 3 I faaford €A 9TEd @
(D) 398 g muft

In equilibrium situation
The amount to be sold is equal to the amount tg be

(A)
purchased
(B} Market supply is equal to market demand
€} Neither the firm nor the consumer wants to be destabiligeq

(D) All of these
5. @ &l fimd 39 fag  Fuifa g 2 F8
(A) =& i FT U B
(B) agg $I yfd sfu= &
(C) &g & T AN ax 1 gfd g '
(D) ¥ 8 ®I3 €l
Price of a good 1s determined at a point where
(A) Demand of the commeodity is high
(B)  Supply of the commodity is high
(C)  Demand of the commodity and supply of the commodity are
equal
(D)  None of these
6. fFEdds-mswmadig?
(A) =¥ & °IT ITEHI gRI S AT R
(B) %W &) "I IWH! Ieqrgehal W A el 2
(C) MI.:‘L =TF - T.Ff L-1)
(D) ¥ | |
Which of the following statements is correct ?
(A)  The demand for labour comes from producers
(B) Demand of labour depends on ijts productivity
(C) MP, =TF - TP{L—H
(D)  All of these
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swgan Puifta Hog @ e 3 A Rafa 30 adi @ 2
(A} H R d e > aimgfd Y e
B) " s @l 3t axgail i FH &R @it
(C) il JeT) |vd R
(D) & 8 @l
Due to price ceiling, what situation arises in the market ?
(A} Quantity demanded > Quantity supplied
(B) Demand will be larger and deficiency in goods will remain

(C) Black marketing is possible

(00 All of these

s aeR e # wh Wi % wgeR b R, #E-@ wd 90 @
AaEF R

(A) AR = MC

(B) MR = MC

(C) MC T MR 5 &I 4 & &2
(D) (B) 3 (C) A

For every market, which condition has to be fulfilled for firm’s
equilibrium ?

(A} AR =MC

(B) MR =MC

(C) MC curve intersects the MR curve from below
(D) Both (B) and (C)

qfd § st & Profafgs § #4 w8 ?

(A) ered @ A g

(B) wMNA g & fwal § i

(C) 3w # wul & g § &

(D) %™ 3 wf |
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Which of the tollowing s the reason lor a decrease in supply 2
Y fncrease m production cosl

(B1 Inerease in the prices of substitules

() Fall in number of firms in the industry

(1 All of these
0 Feafefga d @ sR-g1wis 2 0

(A) gy (B) ==d

(€ fata (D) & | HIE A

Which of the following is a stock ?

(A} Wealth (B) Saving

(C}  Export (D) None of these
11, @ & Fafafaa § -0 g ® 2

(A] T B Ffaaia @

(C) Fm = (D) 3 d a4

Which one of the following is a component of profit ?
(A) Dividend (B) Undistributed profit
(C}  Corporate profit tax A1 All of these
12.  wq-fatmg yoret & fafafiga § sh-dt sfe€ 2
(A) <B4 &1 9 (B) g% favymm § sigs
(C) HaHT Ted UIYS &1 3197E (D) 399 @ oft
Which one of the following is the difficulty of Barter system ?
(A)  Lack of double coincidence
(B)  Difficulty in division of the goods
(C)  Lack of general acceptable measure of valye
M’An of these
13, qﬁ%mwﬁmm%mhﬁqﬁﬁaﬁﬁﬁ?ﬁmﬁaﬁwm§p
(A) fafma = mem (B) Tox &1 Ags
(C) (A) 3 (B) gFi (D) T *1 g
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Which one of the following is included in the primary function of

money ?

(Al Medum of exchange (B) Measure of valuc
((}  Both (A) and (B) - (D)  Store of value
el o F7at i aitifera 2

(A) e Fuko FE (B) &4 |fad S

() Taftmg =1 mean (D) %™ | o

The functions of money include

(A)  value determination (B) store of value

(C) means of exchange ’iﬁ]j all of these

ST Ao % o FE F rwta Freferfiaa 3§ fed e o ot @ 2
(A) e % &9 A (B) HMTE ILFIfE % FH

(C) amfee wH (D) 3z 4 |l

Which of the following is the secondary function of commercial

banks ?

f {;;;) Agency function (B) General utility function
[C] Social function (D}  All of these

AEEE 86

(A) e Frima s @ (B) UEH & ST wiiwr il

(€ uEHRFAME - (D) (B) I (C) qH
Commercial banks

(A)  issue currency notes

(B) accept deposits from customers

(C}) -provide loan to customers

Br” both (B) and (C)

aifrfsas d% ar@ g S 2
(A) U AW FH B)  wlyfeal @lie =
(C) (A) 3R (B) B (D) T & =g 7
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Commerciad banks create credil by
{A) advancing loans (13) purchasing sceurities
(C)  Dboth (A) and (13) (13)
18 Fafefga 4 sF-w1 wum gdl 2 2
(A)  Hgia g 29 &1 gare 9 @
(B) g S W ACHR 1 wIfed €1l 2
(C)  ¥ru am 2y § e wonelt w1 P FE @
(D) sd & @fl
Which of the following statements is true ?

(A)  Central bank is the apex bank of the country

nonc ol these

(B}  The government has the ownership of central bank

(C}  Central bank regulates the entire banking system 1n the

country
A3y All of these

19. g g grg Hgav &+t &

(A) o H A (B) W&l IR ufeham & i@
(C) CRR% W@ (D) 399 o Tl

Central bank controls credit through '

(A)  bank rate (B) open market operations
(C) CRR _ID"all of these

20. #ifgw Hifa %1 yq@ e 2
(A) IR ARG B)  foed ffe o 6 R
(C) e feum (D) ¥ ¥ wsf
The major objective(s) of monetary policy is/are
(A)  1ncrease in output and employment
(B)  stability in foreign exchange rate
(C)  price stability
(D)  all of these
25A/12/104
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o1 Bl & naur siedegaran U sny ud QIR | gxgfaa @t Herfefaa O

wifud ghm 2
(A} AD > AS (B) AS > AD
(C)  AD = AS (D) o8 4 s &

In Keynesian viewpoint the equilibrium level of income and
employment in the economy will be established where
(A)  AD > AS (B) AS > AD
(C) AD=AS (D)  None of these
22. 5 Tagr e w1y 921 g B ?
(A)  wwTEqul HiT ygia | (B) 39w ygfH @
(C) ==aygi & D) @ & wsf
Kevnes theory is associated with
(A)  Effective propensity to demand
(B) Propensity to consume
(C) Propensity to save
(D}  All of these
23. i 1 s fagra Fafafaa 9§ e §g areey wnfua #an g ?
(A) Frow awn gmw sg & i (B) 31 dY1 394 % &9
(C) w=e gl By & g (D) % | w13 9Ei
Keynes multiplier theory establishes the relationship between
(A) Investment and total income
(B) Income and consumption
(C) Saving and investment
(D) None of these
24. Tk @ T=fafaa d fre @@ g0 = TR 9w & 2

A) K= %IS-— B) K-= %

() K=I-S (D) ¥ | HIE

Multiplier can be expressed through which of the following
formulae ? :

A k=42 B k=52

(C) K=I-8 | (D) None of these
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l
25, 111"1{4% ard e & a-adg Pesfeifaa o Beo wonfve fear ana @ »
(\) Ho7] & Hintd HIATYchl] i qﬂqgh
(B) =@ bl quifn
(C) Uas riard]
(D) W & g+
Which of the following is included in the qualitative method of
controlling credit ?
(A} Change in marginal requirement of loans
(B)  Credit rationing
(C) Direct action
(D) All of these
26. =7 "M wl diF &\ & o Freffae § #w-8 aiftw sum feu o
Hehd d ?
(A) ¥ ° i
(B) g IR ¥ wlayfrn £ wfied
(C) ¢ HN FUE Sl HF HE
(D) T 8l “
Which of the following monetary measures may be adopted to
correct deficient demand ?
(A)  Reduction in bank rate
(B)  Buying securities in open market
{(_l:} Reducing cash reserve ratio

/(D). All of these _

7./ Thifash A= Hl S FH & o FH-8 o 39 39T o § 2

(A) TS & H wldl B) HU ¥ Ifg

(C) g =l # gfg (D) & g gl

Which fiscal measure is to be adopted in correcting inflationary

gap ?

(A) Reduction in public expenditure

(B) Tax increase

(C) Increase in public debts

(D)  All of these
| 25A/12/104 Page 10 / 32
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08. WHd &1 fadiy ad 2
(A) 1319 | 31 9 (B) 1 gt @ 31 femman
(€) 30w A1 fyamt (D) T A H A
Financial year in India 1s
(A)  April 1 to March 31
(8} January 1 to December 31
(C)  October 30 to September 1
(D) None of these

29, g9 & gues efifgad wla g 2

(A) =9I gl (B) w2 &
(C) (A) 3R (B) TFI (D) ¥ A w3
Which of the following is a component of Budget ?
(A)  Budget Receipts . (B) Budget Expenditure
(C) Both (A) and (B) (D) None of these
30. w2 wiiwdi % gues Hefafaa 0 1 8 2
(A) T wifeEr (B)  Ysfira v
(€) (A) 3R (B) T (D) ¥ | B3 &
Which of the following is a component of Budget Receipts ?
(A) Revenue Receipts (B) Capital Receipts
(C) Both (A) and (B) (D}  None of these
31, @wfy efwre reER w2
(A) Ul AR (B) H9H HWd W
(C) T&d TPHA IUR (D) ¥ @ wfl
Macroeconomics studies
(A) Full employment (B) Aggregate price level

(C)  Gross National Product (D)} All of these
30 gufs sl ¥ arrta P o Rewe sivmaa Rea s & 2

(A) TEHE I C(B) 9ot AR
(C) &el I (D) & & adft
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35.

36,
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Which of the following is studied under macroeconomics ?

(A) National income (B) Full employment

(C) Total production (D)  All of these

T vaTE % Jria Fefifas § w mite 8 2

(A)  STEdfIH FaTE B) wfew 98

(C) (A) R (B) g (D) ¥ @ &Y Tl
Which one of the following is included in circular flow ?
(A)  Real flow (B) Monetary flow

(C) Both (A) and (B) (D) None of these

=i ¥ srmwta Prefofaa # @ wfve 2 2

(A) TR I TR (B)

3|
(C) "MemAWTEH A (D) WA @A
Which one of the following is included in stock ?
(A) Quantity of money
(B) Wealth | |
(C) Quantity of wheat stored in - warehouse
(2} All of these ”

Tt YaE % aratd effea S e e 2

(A) a3t w1 ya® (B) W13 1 YT

(C) (A) 3 (B) g (D) ¥ @ =i 7

Which of the following is included in real flow ?

(A) Flow of goods (B) Flow of services
Both (A) and (B) (D} None of these

T A E ? |

(A) GNP=GDP+fmm@e (B) NNP=GNP + Reme
(C) NNP = GNP - foramee (D) GNP = NNP - ez
Which one is true ?

(A) GNP = GDP + Depreciation

(B) NNP = GNP + Depreciation

(C) NNP = GNP - Depreciation’

(D) GNP = NNP - Depreciation
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eyl fl % UM HI T FEd & 2
(a) It i (B) T T
© Ffam (D) s & it
What 1s consumption of fixed capital called ?
(A) Capital formation ‘(B] ! Depreciation
(C) Investment {5; All of these
Frafaliga 3 & F-a1 g 39+ safya s g 2
(A) o T dE W (B) Trm =
(C) 3l wEmar (D) @ 4 o

Which of the following affects national income ?

(A} Goods and services tax (B) Corporation tax
ﬁi] Subsidies (D)  All of these
fadrae &3 1 frafafes § s9-d) dar gfafaa 2 2

(A) = (B) fafmio
(C) SR | (D)  fd
Which one of the following services is included in secondary
sector ?
(A) Insurance By Manufacturing
(C) Trade (D) Banking
srfires @ 3 Aefifaa # @ wftver R w2 2
(A) B) &
C) @H (D) & T
Which one is included in primary sector ?
(A) Land (B) Forest

ining (D) Al of these
safy srefera o afrfera e 2
(A) =aRETT TR (B) “BR-BIE W

() =atea qea RyRu (D) ¥ & @ft.
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44,

|'21f;i1

Microccottomics imcludes
iA) indwvidual it

(B3 small varables

mdividual price determination

()

) all of these

sufd ardlene armE Ll 8

(A) 9% $ma Pulo (B)  "iue hHma i
(C) 3 wem (D) 38 | @l

Microeconomics studies

(A}  Product price determination
(B) Factor price determination
(C]) Economic welfare

D). All of these
HU9TE & I F HH U ?

(A) S.d 9 (B) HoYd

(C) vew fary (D) S Ut

Who was the father of Economics ?

(A} J. B. Say (B) Malthus

{C} Adam Smith (D) Joan Robinson

e & @ F1-31 HuF gd @ 2

(A) T ) HETEHATE 3T B

(B) &ryq diftd gia ¥

(C)  Tovel 1 Tw e &1 I At 2

(D) & 4 aft

Which of the following statements is true
(A)  Human wants are infinite

(B) Resources are limited

(C}  Scarcity problem gives birth to choice

M of these
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Mi¥as YN Yeid- ld dava k) qnean o Hafudg &

() el ] (13)  3uMlehi a4 )
1w aya (D) gl H g A
foowlhich factor, is economic problem basically related to 7
(A Choice (B) Consumer’s selection

Y Firm selection (D)  None of these
Y Y frg wdsmen § BN &E va aeafee &F @ wE- A

5'_17*_-."'—! % 2

Al EiETd (B) HHTSETE)
) fafa (D) ¥ ° w13 &l

Which economy has a co-existence of private and public sectors ?
(A]  Capitalist (B} Socialist
C1 Mixed (D) None of these
7 zugriEr &t e § - ot @ 2
(a) Ul U AT ge @
B) I safwucs gl 2
(C) IUAIMTEN U A FAYR 2
(D) 39 4 &l
Which of the following is a characteristic of utility ?
(A)  Utility is a psychological phenomenon
(B)  Utility 1s subjective
(C}  Utility is a relative concept

__u.)-j-"/]] of these

I SHFER %1 HHgA fRa S &

(A) gz wdenE O (B) &uTash edvie o

(C) = fagra (D) & & IS 48

Consumer’s behaviour is studied in
__A}—Microeconomics (B) Macroeconomics

(C)  Income theory (D) Noneof these
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19 wu-diai uafar Ram b faur & ya sfaurds A 92

(A)  HTI (B)  TMEA
) fprel (D) foe
Who basically propounded the concept of Law of Equimargina
utility ? |
(A)  Marshall /ﬁB] Gossen
(C) Ricardo D) Mill
50. fodt s o Ay sravashar wF @ W A S @
(A)  IU9RT (B)  I9dIfIra
© ™ | (D) =
The capacity of a commodity to satisfy human wants is
(A)  Consumption BT Utility
(C)  Quality (D) Taste
51. Yzl #hifd &l Fafa 6@ & o ds @
(A)  werh s 2 (B) U< Wl B
€) TR &l o 2 (D) I e R
For controlling inflation, bank rate is
7l ' inc_reased (B) decreased
C)  kept constant (D)  1s made zero
52. ford o 3% sfvean 1 qearem #af 2 2
(a) 7% fegh (B) g3
(C)  =IeTehml (D) ==s
Where is the headquarters of RBI ?
" New Delhi (B) Mumbai
: (C) Kolkata (D)  Chennai
53. WA H 14 98 FYaa smamifis 39 o udmm S T
(A) 19497 (B) 1955 %
(C) 1969 ¥ (D) 2000 ¥
14 big scheduled commercial banks j In India were nauonahsed in
(A) 1949y (B) 1955
(C) 19649 (D) 2000

| 25A/12/104
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witen a1 sfvder Peafafea § 4 Reed gur @ wrafem 2 2
(A)  HTAI § GUR (B) wuTER guR
(©) < gum (D) SATRE UK

Narasimham Committee Report is related to reform of which of the

following ?

(A)  Taxation reform (B) Administrative reform
(€} Banking reform (D) Trade reform

15 N, 1980 ! Fel e ahi 1 UFIFaHT fpar T 2

(A) 20 B) 6

C) 8 (D} 10

How many banks were nationalised on April 15, 1980 ?
(A) 20 B

C) 8 (D) 10

“gff T i g W A Pefifaa § Reet aw P iR
e ?

A) S.#.a3 B) . w. faw3

() #rgH (D) Tl A

“Supply creates its own demand.” Who propounded this law ?

'J. B. Say (B). J.S. Mill

1| EE] Keynes (D) Ricardo

sTerget st Fsfe et 2

(A) 99T HIT W (B) €HU Yfd W

(C) (A) 3N (B) QI (D) - ¥ | ®I§ T
Effective demand is dependent on

(A) Aggregate demand (B) Aggregate supply
(C) Both (A) and (B) (D) None of these

'25A/12/104
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gfe MPC 0-2 8 98 MPS anf)

(A) 08 (B) 02
(C) 04 (D) -02
If MPC is 02, then MPS will be
(A) 08 (B) 02
(C) 04 (D) -0-2
- 3ftga I w9y (APC) F1 wE B 2
AC
A i (B] S+C
C S
Average propensity to consume is equal to
AC
[i]_ N (B) S+C
e £ | o 2
ST famumn % sl & "o & fules Prafafaa d a9 2 -
(A)  aMfgss A (B) Hﬂgi%m fd
(C)  (A) 3R (B) gFil (D) ¥ ¥ I 4

Which one of the following is the determining factor of equilibrium
income in Keynesian viewpoint ?

(A)  Aggregate demand (B)  Aggregate supply
(C} Both (A) and (B) (D)  None of these
AT H HH-71 T Pifya g amavas 2 o

(A)  399P Y T B) & fiflvwa g

(C) W= FA RN qowa (D) =5 F of
Which element is essential for demand ?
(A)  Desire to consume
(B) Given price
(C)  Willingness to spend factor
All of these
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62. 1Y ST ) el & e § aift A3 A 7l F gfy 387 A
(A) e agd (B)  3REEIA4 qri
) Refya IEqd (D) 399 d I3 98
I which type of goods, price fall does not make any increase in
demand ?
(AY  Necessary goods (B) Comfort goods
(C)  Luxurious goods (D)  None of these
03. T SXga % fon it w1 Raw wg f Fue w ag dﬁ'ﬂﬁni% d=
.......... SI<F Al gl
(A) Y gy @) (B) AT GFY
(C) Fula vy =i (D) ¥ & B
For normal goods, Law of Demand states the ............ relationship
between price of goods and quahtity of goods.
(A)  Direct (B)  Positive
(C} Inverse (D)  None of these
64. TR TG T IeTEwT
(A) =T SRR (B) S T =
(C) oM wd Q@ (D) < TH ST
The examples of substitute goods are
[A}' Tea and sugar (B) Shoes and socks
(C) Pen and ink ABy—"Tea and coffee
65. Tifea sreqait & fore win < Fma e 9 2
(A)  BUITcHD (B) HATHS
(C) A (D) T E HE T
Price elasticity of demand for Giffen goods is
(A)  Negative (B)  Positive
(C) Zero (D) None of these
66. i &l @ B Y9G HH I HF §
(A) =& I Tpia (B) Wd &
(C) ™ & (D) %H & =i

(2547127104
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The factor affecting elasticity of demand is

{A)  Nature of goods (B) Price level
(C) Income level (D) Al of these
67. af fret a5 ¥ 7w A 40% viady F ww At § 60% IREE & 4 A
%! #ire geft
(A} 05 (B) =~15
) 1 (D) O

‘If the demand for a good changes by 60% due to 40% change in
price, the elasticity of demand will be

(A) 05 B) -15
© 1 D) o
68. HAUFEH I Bo ! warem Prefafega d fea Fam & gra &
Sl 8 P
(A) o % fram (B) uRedavier gy & fram

(C) A % wfawa Fag (D) @P 6l o

Which of the following laws explains the short-run production
function ? https://www.bsebstudy.com

(A) Law of demand (B} Law of variable proportion

(C) Law of returns to scale (D) Elasticity of demand

69. IHTUBICIA IeqTed hl gan § wh fadesfier Icares fvm sraeen o 3e @

qg= HU P _
(A) TIW ATEM B) feeftw amen .
(C) g I=wn (D) W @ % 7

In which stage of production a rational producer likes to’ operate in'

the condition short-run production ? |

(A) First stage (B)  Second stage
(C) Third stage (D) None of these
70.  Weusrel Ieared afhan A foafelea § @ -3 s 3 o
(A) fer siyga B) uR=dTsfie anm
(C)  (A) 3N (B) 2] (D) i d = 79

[ 25A/12/104
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Which factors among the following we find in short-run production
process ?

(A} Fixed factors (B)  Variable factors

(C)  Both (A) and (B} (D)  None of these
wd F oy st ? 7

(A) AR > AC (B) AC > AR

(C) AR=AC (D) T 3§ = T
Firm gets profit when

(A) AR >AC (B) AC > AR

(C) AR =AC (D}  None of these
gfd frafafn 4 fred g A 2 7

(A) et gma ) aafy (B)

(C)  (A) 3 (B) i (D) @ & T
Supply is associated with which of the following ?
(A} A time period (B}  Price

(C) Both (A) and (B) (D) None of these
gfd & fram = Fefafea § S9-g1 sow welifd s g 2
&) S=f(P) ® s-£(4)

(©) S=f(Q) (D) M & &5 T
Which of the following functions shows the Law of Supply ?
(A)  S=f(P) (B) 5=f(%)

EC] S= f(Q) (D) None of these
ff &g 1w Frafafiea 3 fee g3 @ 9@ 6 9 @ 2

AQ, 0
() _EE B 5%
P

(C) 5%5 x AP (D) %{— X ‘553

25A/12/104
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77.
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The measurement of the elasticity of supply is made known as u

AQ, 8.
(A) f; (B) % x }1-3-

P

Os
€ zo_xaP (D) ‘é)—Px ﬁg
el & 7o fag & Pee areh o Yo 6 e adt 2 )
(A) =18 8 *H B) 16 A AE
(C) 1§ & =JqH (D) Y % T

The elasticity of a straight line supply curve originating from the
origin of the axes is
(A)  Less than unity (B) Greater than unity

"{C} Equal to unity (D) Egqual to zero Y

maﬁmm&mﬁsﬁaﬁﬁﬁnﬂﬁwﬂﬁqﬁdﬁﬁﬂma@ﬁ
qfff & T 6% 9% I 3 79 a5y H O B Fa AE FEE TR 2
(A) 30 (B) 083

C) 12 (D) 2

Under ceteris paribus if the quantity supplied of a good increases

by 6% due to an increase in its price by 5% then what will be the:

value of price elasticity of supply of the good ?

(A) 30 (B) 083
) 12 (D) 2

TR Rt Rl aeg #1 a9 W a1 @a 2, 98

(A) IR (B) =HIEH

(C) TR (D) ¥ & % 7
Market situation where there is only one buyer is
(A) Monopoly ,(B‘i/ Monopsony
(C) Duopoly (D} None of these
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51.

. ) = [ :
A AT R g [aYe grer s 2 o

(AY g ufefir (B) vt wfaeifiran

(C)  UshTienR (D) ushtlirertd gfanfia
In which market is product differentiation found ?

(A) Pure competition (B)  Perfect competition
(€} Monopoly I} Monopolistic competition
wHTT Sl &) wmon &) o 2

(A)  Tesa 3 (B)  =ranfer 3

(C) et dfama 3 (D)  HEEEd 3

The concept of monopolistic competition is given by

(A) Hicks (B}  Chamberlin

(C))  Mrs. Robinson (D) Samuelson
TSR &1 A d5h 41 2 8 2

(A)  HellEER (B) @rEER

(C)  yulaar drer (D) i deeEr
What is the type of demand curve of monopoly ?

(A) [nelastic (B)  Elastic

(C) Perfectly elastic (D)  Perfectly inelastic
e Ui |1 EPM At MPC = 02 & 7

(A) 200 (B) 95

c) 2 (D) 125
*“What will be the investment multiplier if MPC 15 0-2 ?
(A) 200 B) 5

) 2 (D) 125

faesft fafma &1 1 faghm & 8
(a)  faesft il 6 am gro
B)  faedfl st 6 yfd g
) faesh fafmg arsm 4 9 wd qfd g
(D) g4H ° iz T8l B

25A/12/104
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85.
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Foresm exchange rate is determined by
(A} Demand of foreign currency
(B)  Supply of foreign currency
C}  Demand and supply ir.'1 foreign exchange market

(D) None of these https://www.bsebstudy.com/
fagett Tt et a1 frufor 8 s 2 »

(A)  HERR (B) Hid-dld Rl

() fava d= (D) @i ud gfd sl g

Who determines the foreign exchange rate ?

(A)  Government (B) Bargamning

(C) World Bank (¥ Demand and supply forces
924 g8 Wunehl % wwa il 2 o o

(A) fer fafmy = (B)  fuehifera fafima at

(C) (A} 3R (B) g (D) ¥ & FI§ &

During Breton Woods system most countries had

(A)  Fixed Exchange Rate (B) Pegged Exchange Rate

(C)  Both (A) and (B) (D)  None of these

YR GeH ¥ 3gw WG % e PefaRas § fed sfhm G
STl B P

(A)  dfdn (B) SR

(C) Hq= (D) 3 & &f

Which one of the following is included in the invisible items o
baiance of payment ?

(A Janking (B) Shipping

(C) Communication (D)  All of these
q3ft @M & Ao Fefafga 7 R mive fen s 4
() AT B) fridR,

(€) faesht geger fafm (D) $ﬁfﬁjfﬁ
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Which one of the following is included in the item of Capital

Account ?

(A) Government transaction
(B}  Private transaction

(C)  Foreign Direct Investment
(D)  All of these

ﬁmﬁa%ﬁﬂﬁaﬂqq?ﬁ@ﬁﬁqﬁm?
(A)  HEEH ER (B) www AW
(C) u=vuelg = (D) T H @ =3 T8

Which of the following does not come in Capital Account ?
(A) Government transaction

(B) Direct investment

(C)  Unilateral transfer

(D)  None of these

FEERIG TS T H A @

(A). 9wifed GDP - arfds GDP
(B) @Wifad GDP + ardfds GDP
(C) (A) 3R (B) gl

(D) ¥ | I T

The formula for deflationary gap is

.(A)  Potential GDP - Actual GDP

(B) Potential GDP + Actual GDP
(C) Both (A) and (B)
(D} None of these

i o 399 8H & fAafaiaa § s-a1 sro g ?
(A) drEas =3 4 9 B) gz At gfd # 3fg
(C) U H H (D) 38 & =

25A/12/ 104
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Which of the following is a reason of appearing surplus demang
(A} Increase in public expenditure

(B}  Increase in money supply

(C}  Fall in taxes

(D) All of these

90. i TR & 31 Y wgfees win @en qui AR ) AR Al % 3w

SIE LAl 8
(A)  Thifas e (B) raehifds =T
(C) (A) 3R (B) I (D) ¥ A HI3 A8

The difference between aggregate demand at above full employm

and aggregate demand at full employment expresses

(A} Inflationary gap (B) Deflationary gap
(C) Both (A) and (B) (D) None of these
91. JIcITEA 1 GIYA F1 8 ?
(A) (B) =W
(C) g (D) T & wf
What is/are the factor(s) of production ?
(A) Land (B) Labour
(C) Capital _,.EB')'/AJI of these
92. IculcA d gfg & WY-WY FA AP U9 F R AT F1 37T
A) ferwm? (B) W&l SN B
(C) Al w2 (D) EA-"Edl @Al &

With the increase in production the difference between total
and total fixed cost
(A) remains constant (B) increases

(C) decreases (D) both increases and decrea

[25A/12/104  Page 26
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FJ_,,

(A)  fRramwm
(C) (A) 3R (B) i~

(B)
(D)

HETHTA ¥ Irarea wiwan & Prafifaa 8 #-2 gy @3 & »

RECRENIC R IC]
= 8w AE

[219 |

Which of the following factors are there in short-run production

process ?
(A) Fixed factors
©)  Both () and (B)
94. AW AW F1 Iwfeus AW R
(A) 3RS ArE
(C) Hiuma &

(B)
(D)

(B)
(D)

Variable factors

None of these

el qod
JAtgd T

The alternative name of opportunity cost is

(A) Economic cost
| (C) Marginal cost
95, TFC +TVC =?

(A) el P

©) = e

TFC + TVC = ?

JLP{}/TDtaI cost

(C) Marginal cost

(B)
(D)

(B)
(D)

(B)
(D)

Equilibrium price

Average cost

Jr|a @
T | SIS T

Average cost

None of these

96. ﬁmamﬁzﬁmm{mmi@mwém%?

(A) UHIUFR
{C) (A) 3R (B) gHI

(B)
(D)

TR SR
ol sREfa

In which market may Marginal Revenue become zero or negative ?

(A) Monopoly
(C) Both {(A) and (B)

21T 7P
(A) P> MR
() P - MC

(B)
(D)

(B)
(D)

Monopolistic competition

Perfect competition

07 frfafad § & £H-°1 THETUER U9 uaiued) gfeifar g % fae we

P = MR
P=AC
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Which of the following will be true for both Monopoly ap,
Monopolistic competition ?
(A)  P>MR (B) P=MR
(C) P=MC (D) P=AC
3ed Amm fhad w2 o
(A) T HANH hl FA 39T § HIT HEHI

(B) &hHd
(C) (A) 3R (B) gHI
(D) H 9 ¢ &

Average Revenue equals to

(A)  Total revenue divided by the quantity produced
(B) Price

(C) Both (A) and (B)

(D) None of these

i % GeH Hi HEWH Id

(A) MR =MC (B) MR > MC

(C) MR < MC (D) MR=MC=0
The necessary condition for a firm’s equilibrium is
.-'[{D MR = MC (B) MR >MC

(C) MR <MC (D) MR=MC=0
& ¥ =7

(A) TR-TC (B) MR+ MC

(C) (A) 3R (B) T (D) T ¥ HI3 Tl
Net profit = ?

Ay TR-TC (B MR+MC

(C) Both (A) and (B) (D) None of these
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@Ug - ¥ / SECTION - B
g WW / Short Answer Type Questions
g9 T 18 30 & &g Iag &1 3799 & fe=T 15 wval & v &1 adw

7y & [0 2 % Freffer 3 15x2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
Each question carries 2 marks. 15x2=30

1. ey & fydigs & 6 afomn it

Define secondary sector of the economy.

2, el 9] IAE A Y 41 g9 & ?

What do you mean by Gross Domestic Product ?
3.  IUMIT I T¥ o a3t & Q- I iRl

Give two examples each for Consumption goods and Capital goods.
4. TZE % T iR H FaT)

Mention two contingent functions of money.

5. T SHIAT | R AR 2 P

What do you mean by Demand deposits ?°
6.  durfie ceTal I (SLR) #4418 ?

What is Statutory Liquidity Ratio (SLR) ?
7. gal wfurgy wfifa %9 fd g8 ?

When the second Narasimham Committee was appointed ?
8. @iy o & F AMWE R ?

What is meant by aggregate demand ?
9. ‘¥ wENR M EIE?

What is Say’s law of market ?
10. @R wmTdl & 91 H9E R ?

What is meant by Fixed cost ?
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S AUH § G0 HTHE & dibg grE-d We $ifsu)
: . inal Reven
Explain the relation between Total Revenue and Marg ue
12 3G & G & =1 aread ] ?

What is meant by producer’s equilibrium ?

13, fHaw o w0 B 2
What is Investment Multipler ?
14, «dl g &7 aed 8 7
What 1s meant by recession ?
15, udsmNg fifq & @ a2 8 2
What 1s meant by Fiscal policy ?
16, 9T9R <o &1 31 Fqrsu)
Define market equilibrium.
17. fawet aeg 1 hima Fufor § 3 geapt wiwal $-d 8 2
What are the two forces in determining the price of the goods ?
18, W8 i gieaTiya #i
Define flow.
1.~ aim @ T 31fym 2 ?
| What 1s meant by demand ?

20. Hin Fl &9 Sh1S g Bidl & ?

When the elasticity of demand is unitary ?
21, IEGT B H 31 A0 B 2
What is meant by production function ?
22. gl &g giem <)
gl Define Government Budget.
23. faesht fafrma & smgfd & & € sy
State two sources of supply of foreign exchange.
24. YUK Hqer A wA-H 7q miter i At § 2

Which items are included in balance of trade ?
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29 HTAR gfd wyy 2 o

What 1s Market Supply ?
3 = T . e =
<0 HId I 9 % 9n fighes gees fafigo)

I"h' * | > - - ,
lention the four determinants of elasticity of supply.

qui afagifirar & gfoam 2

-._'I

[

Define perfect competition.
28, Wi fopar w2 7

What is economic activity ?
29.  Tufda snfde ot & sy @0 awgd € -
What do you mean by Mixed Economic System ?
30.  IuAIfTar &1 it difsm
Define Utility.
" IT 09 / Long Answer Type Questions
YT WET 31 9 38 2" Wi wew ¥ 3 | Tl 4 uwEl & S ) e

v & fore 5 3w fFraifa € 4x5=20
Question Nos. 31 to 38 are Long Answer Type questions. Answer any
4 x5=20

4 questions. Each question carries 5 marks.
31. =4fY o % WEE % WEE Wl TE H

Explain the importance of the study of Microeconomics.
30, w1 Fraw guenge) g6 fam o) g1 wr=ard g 2
Explain the Law of Demand. What are 1ts assumptions ?
33, gfd 1 uftarn dfqw 39 RO 1 oSg@ Rt S R s S gl @)
fruffa #@ 2l
Define supply. Mention the causes which determine the supply of a

commodity. _
34, uwEHTySR #1 & ? §9h ¥q@ fegwand a1 € ?

Wwhat 15 Monopoly ? What are its main features ?

L25A/12/104
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37.

[219]
auiy v | 1 sfuumg 2 0w 83 %1 avie Hifo
What is meant by Macroeconomics ? Discuss its SCOpC.
TP 31/ & wge &1 Ty $ifam
Explain the importance of National Income.
031 & q&3 F1 $H-3 8 2
What are the main functions of money ?
Hra da &) gftym € 3 3u% Sl f aren #:i)

Define central bank and explain its functions.
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